BINNUG ., . NN
memin - RE (L8 ) BEENEIRAE

SC An e L

i (BB BERINERAF

Binnuo Shanghai Automatic Control Valve Co., Ltd

MHLHEE: 021-57802065 B ScAEE: 021-57802065
E-mail: binnuo - valve@l63.com M3k http://binnuovalve. com

=
Hubl: LA X PRI TRS 3111 5 555 5 2= 201401


mailto:–valve@163.com

. B
SC bRl UHLE & RS A F AT, B MR LR AR E b, XM ULE R ECE 7RI
AR R B i 1 1] — 232

= GHRRR

1. SC ARE UL 3 o 12 FH R 2 9T B AR 1 ) B A B R

2. GLEIZHIHR R RS M BRI E H, N ER 2 18 I A o B 2 AU 0 3 i A

3. FURLHE FE AT R R 12 IR IR IS IN THOR, @ i a6 . FeamiE i, B 70 KP4 8%
i B S5 Ao

4, SC brESEL LT PAFAIE R, SRS, AEMS LR SO s IR I MKIRBUA 5+ 7 112
8, AELYIEG A BRI BT 18, IR T E A A R

5. LAY JE P I i AR 1A FHIE SR O, 5 A 2 e AL I
=. =ZREH

v TAEh a0 FE AR L, AR IR AR T, RO A S AR e Y L
 RLECE T, LAURERE AR, BRI NN .

- LA A BN 2 40&mus m RAESEES RS T AT AR

v FEARIEIAEL T, BCREUPUARIE I, Bk R G KK 73 R

v LA AT e S EE e, BRI R, IBPTOR, UG AR O el R UL
v AR AR IR A R BESRE S T 7038, DAY SR 1R AR B 75 i o

LY N R EAMER, BRI, R RO A4 ZE i

o ~ OO0 WODN P

1T S/Specification

SC D 50 x 50 LB S 2
- mEgR
TASENHE = :
ag e Mounting Type
D30 8 )88 ¥ HAaRE L3218 4
S*C”m ST TR Dt Stroke L!B'B'gn.:i! Magnet Code:  The number
; ; Blank:Standard Double FAI 38 0 51 (W7 2) S:HME wn: Of sensor
SUSE#F st Action: FBE BB NS RE) FHBE 114224
SC:Pull Rod Type; D:Double-shaft CA:JG 8 7 B9 (M I TF) $:With magnet
SU:Hidden Pull Rod Type ‘?c'bﬂ o %:g:lz!(um) Blank: Without
ocbin-shes o R t
adjustable stroke type st magne
LB:Front and back fxed type

FA:Front cover fixed type(Front flange type)
FB:Back cover fixed type(Rear flange type)
CA:Back cover fixed type(Single Earring)
CB:Back cover fixed type(Double Earring)
TC:Swinging type


http://baike.baidu.com/subview/959246/959246.htm
http://baike.baidu.com/view/1669051.htm
http://baike.baidu.com/view/1250646.htm
http://baike.baidu.com/subview/11770586/12138581.htm
http://baike.baidu.com/subview/959246/959246.htm
http://baike.baidu.com/subview/3517404/3517404.htm
http://baike.baidu.com/subview/1464176/1464176.htm
http://baike.baidu.com/subview/959246/959246.htm

4p2 R =~H/Overall Dimensions

AHTR St SXS
B Criy B srroke) TXT
E G , G 1
o0
TYPE:SC N o I 1 ar "
=== R
] a J H-b
o T -3 - S - — - Ml
C N
L = T S
B
L] \_ i
oo Zi
KRTTR (Stecke) X2 MITH U fotable streke) ik
B CHATIR sy TXT
E 4 G Firl 1
H b * U0 e
] 5 J }
Tl eje
m A é =
ggz N - -_\.1_%_-_- A - H G: ] @ "
N \ b S
TYPE:SCJ 1 z — =
v N DL t
Q Zﬂtﬂ,‘: Q (Adjustable Stroke) Zs Fron

BB A [ M a8 c 0 e[ Fla [ n ] 1 4 K [
32 140 187 182 a7 ) 28 32 15 [ 275 2 17 & M10%1.25 MEx 1
40 | e 19 185 48 9% 32 £ 15 215 \ 24 v 7 M2x12s M6 x 1

50 |0 27 108 7 | . | 38 2 15 275 | 23 8 Miexis M6 x 1
63 153 210 199 ‘ 57 T 96 38 42 15 275 T R 23 8 ' Mi6x 15 M8x1.25
80 | s | 28 23 | 7 | 108 | &7 | s | 2 | 3 | 4 2 | 10 | wmoxis MIOX15

100 | e | 264 249 | 78| 114 47 s 2 | @ | & 2 10 Moxis MI0X15
125 228 - — 105 123 s | 7 | 30 33 54 © | 10 | merxz M12x1.75
160 278 | — | = o | 18 | es | 100 I 30 42 72 55 18 M38x2 M16x2
200 280 i s 135 145 85 | 100 | 35 2 | T 58 18 M3Bx2 | Miex2

BEER. | ™ N o | P | a m g | v v | ow |z

8 | es | w2 | ew | 8 | 78 7 | 4 | & | 2 | 12 | 2

40 | es | 15 | ew | 6 | 82 9 | s g O 21

50 | es | s | ow | &8s | 82 8 | € 4 | v | =

63 L 8 | w5 = 6w | 7 | 82 | 85 s % | | 8
80 | vs | 165 | cw | 10 | 95 W | . 0 | 2 22 ‘ 29
100 | ns | 6s | 6w | v | 85 W | w2 | s 2% 2 29
125 | 155 | 1.5 | e | [ | | w0 | 10 | = z |

160 | ws | 2 | ew | — | | | w0 | e | ® 3w |
20 | ws | s | owe | ; | | = | s “ ® |



